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= = 998 996 2  (100. 2%)
== de  B= 68 68 —  (100. 0%)
o TN 22 22 —  (100. 0%)
fg =R 13 13 —  (100. 0%)
= A= 16 16 —  (100. 0%)
=2 17 17 —  (100. 0%)
= = 24,312 24,171 141 (100. 6%)
& B 1, 807 1,786 21 (101.2%)
52 iR 780 767 13 (101. 7%)
gz =g 318 315 3  (101.0%)
==PII=! 442 437 5 (101.1%)
BEFHIE 267 267 —  (100. 0%)
= = 602, 091 596, 514 5,577 (100. 9%)
de  B= 35, 150 34, 547 603 (101. 7%)
?5} iR 22,667 22, 321 346 (101. 6%)
g =g 4,905 4,870 35 (100. 7%)
(ha) a=IINE 5,169 4,946 223  (104.5%)
(EFH 2 2,410 2,410 —  (100. 0%)
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